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< 33,070 33,070 0
a 527,776 565,176 A37,400
= T2 A 663,122 660,522 2,600
= 132,276 132,276 0
< 33,070 33,070 0
= 497,776 495,176 2,600
AEFRUYSSHIH(AESWHIIS) 663,122 660,522 2,600
= 132,276 132,276 0
S 33,070 33,070 0
[ia 497,776 495,176 2,600
Atedl2te]l BEHMA HE (223022l Ab QI24H]) 42,992 40,392 2,600
= 28,313 28,313 0
< 7,079 7,079 0
[ia 7,600 5,000 2,600
101 Q124 H] 39,222 36,552 2,670
= 25,297 25,241 56
& 6,325 6,311 14
[Ea 7,600 5,000 2,600
03 SRA(RIAHA)Z2NHE = 39,222 36,552 2,670
O=HEXAE 39,222 36,552 2,670
— A S0 EEA QA 34,472,000& 34,472 31,552 2,920
= 25,297 25,241 56
< 6,325 6,311 14
[ia 2,850 0 2,850
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O=HIEx= ALY 1,200 1,320 2120
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= 960 1,056 A96
& 240 264 A4
02 =2R1H2E2ES 1,390 1,560 A170
O=HIEX A 1,390 1,560 A170
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115,830 18 »12& 1,390 1,560 A170
= 1,112 1,248 A 136
& 278 312 N34
04 SR (RIHY)2 2N L EBEERLESS 1,180 960 220
O=HIEx=AY 1,180 960 220
— =202 cIM DE(MMHEERES S
98,330 x1H 128 1,180 960 220
= 944 768 176
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
| | | =) 236 192 44
MR E S (ArS = Xl 1) 30,000 70,000 A 40,000
BEIE(d2=sd)(d5203) 30,000 70,000 A 40,000
PHNE(A=S0HIIZ) 30,000 70,000 A 40,000
802 gHE = DI EF 30,000 70,000 240,000
01 =202xL3eeE= 20,000 40,000 220,000
Oodzs0AMYE 202X 3 TN Bty
20,000,000& 20,000 40,000 220,000
02 Al - EHIEXZSEHEZ 5,000 10,000 25,000
Oz =80AME THEXZ LN Bty
5,000,000 5,000 10,000 A5,000
03 JIEtEtet= & 5,000 20,000 A 15,000
FH0IS= & BE 5,000,000& 5,000 20,000 A 15,000




